# Hopf bifurcation for the rigid body with time delay 

M. Neamţu, D. Opriş, M. Popescu


#### Abstract

In this paper we define the differential equations with time delay for the rigid body by using eight 2 -covariant tensor fields on $\mathbb{R}^{3} \times \mathbb{R}^{3}$. We prove the existence of the revised system and investigate the existence of a Hopf bifurcation in the neighborhood of the equilibrium point $M_{1}(m, 0,0)$. The normal form is described.


Mathematics Subject Classification: 34K18, 34K20, 34K13, 37C10, 37N15. Key words: rigid body, delay differential equation, stability, Hopf bifurcation.

## 1. The differential equations for rigid body with time delay

The differential equations for the rigid body in $\mathbb{R}^{3}$ are described by a 2 -contravariant tensor field $P_{0}$ and by the Hamiltonian function $h_{0}$ given by:

$$
\begin{gather*}
P_{0}=\left(P_{0}^{i j}(x)\right)=\left(\begin{array}{ccc}
0 & x^{3} & -x^{2} \\
-x^{3} & 0 & x^{1} \\
x^{2} & -x^{1} & 0
\end{array}\right)  \tag{1}\\
h_{0}(x)=\frac{1}{2} a_{1}\left(x_{1}\right)^{2}+\frac{1}{2} a_{2}\left(x^{2}\right)^{2}+\frac{1}{2} a_{3}\left(x^{3}\right)^{2}
\end{gather*}
$$

where $\left(x^{1}, x^{2}, x^{3}\right) \in \mathbb{R}^{3}, a_{1}, a_{2}, a_{3} \in \mathbb{R}, a_{1}>a_{2}>a_{3}$. These differential equations are

$$
\begin{equation*}
\dot{x}(t)=P_{0}(x(t)) \nabla_{x} h_{0}(x(t)) \tag{2}
\end{equation*}
$$

where $\dot{x}(t)=\left(\dot{x}^{1}(t), \dot{x}^{2}(t), \dot{x}^{3}(t)\right)^{T}$ and $\nabla h_{0}$ is the gradient of $h_{0}$ with respect to the canonical metric on $\mathbb{R}^{3}$. The differential equations (2) have the equilibrium points $M_{1}(m, 0,0), M_{2}(0, m, 0), M_{3}(0,0, m), m \in \mathbb{R}^{*}$ and have been studied in [5].

The revised differential equations for the rigid body have been studied in [6] and [3]. They are described by: two 2 -contravariant tensor fields $P_{0}, g_{0}$, the Hamiltonian

[^0]function $h_{0}$ and the Casimir function $l_{0}$, where $P_{0}$ and $h_{0}$ were given by (1) and $g_{0}$ is defined by:
\[

$$
\begin{aligned}
g_{0}(x) & =\left(g_{0}^{i j}(x)\right), l_{0}(x)=\frac{1}{2}\left(x^{1}\right)^{2}+\frac{1}{2}\left(x^{2}\right)^{2}+\frac{1}{2}\left(x^{3}\right)^{2} \\
g_{0}^{i j}(x) & =\frac{\partial h_{0}(x)}{\partial x^{i}} \frac{\partial h_{0}(x)}{\partial x^{j}}, i \neq j \\
g_{0}^{i j}(x) & =-\sum_{k=1}^{3}\left(\frac{\partial h_{0}(x)}{\partial x^{k}}\right)^{2}, i, j=1,2,3 .
\end{aligned}
$$
\]

The revised differential equations for the rigid body are:

$$
\begin{equation*}
\dot{x}(t)=P_{0}(x(t)) \nabla_{x} h_{0}(x)+g_{0}(x(t)) \nabla_{x} l_{0}(x(t)) . \tag{3}
\end{equation*}
$$

The equations (3) has the same equilibrium points $M_{1}(m, 0,0), M_{2}(0, m, 0)$, $M_{3}(0,0, m), m \in \mathbb{R}^{*}$.

The differential equations with time delay are described with the vector field $X \in$ $\mathcal{X}\left(\mathbb{R}^{3} \times \mathbb{R}^{3}\right)$ that satisfy the property $X\left(\pi_{1}^{*} f\right)=0$, for all $f \in C^{\infty}\left(\mathbb{R}^{3}\right)$, where $\pi_{1}$ is the canonical projection on the first argument $\pi_{1}: \mathbb{R}^{3} \times \mathbb{R}^{3} \longrightarrow \mathbb{R}^{3}$ and we denote by $C^{\infty}\left(\mathbb{R}^{3}\right)$ the ring of smooth real valued functions on $\mathbb{R}^{3}$ and by $\mathcal{X}\left(\mathbb{R}^{3} \times \mathbb{R}^{3}\right)$ the Lie algebra of all smooth vector fields on $\mathbb{R}^{3} \times \mathbb{R}^{3}$. The differential equations with time delay associated to vector field $X(\widetilde{x}, x)$ are

$$
\begin{equation*}
\dot{x}(t)=X(x(t-\tau), x(t)) \tag{4}
\end{equation*}
$$

where $(\widetilde{x}, x) \in \mathbb{R}^{3} \times \mathbb{R}^{3}, \tilde{x}(t)=x(t-\tau), \tau \geq 0$, with initial value $x(\theta)=\varphi(\theta)$, $\theta \in[-\tau, 0]$, where $\varphi:[-\tau, 0] \rightarrow \mathbb{R}^{3}, \varphi \in C^{\infty}\left(\mathbb{R}^{3}\right)$.

The definition of differential equations with time delay on differential manifolds was given in [4] and it was studied by $[1,2]$.

The differential equations with time delay for the rigid body are generated by an antisymetric 2-contravariant tensor field P on the manifold $\mathbb{R}^{3} \times \mathbb{R}^{3}$ that satisfies the following relations:

$$
P\left(\pi_{1}^{*} d f_{1}, \pi_{1}^{*} d f_{2}\right)=0, \quad P\left(\pi_{1}^{*} d f_{1}, \pi_{2}^{*} d h\right)=0
$$

for all $f_{1}, f_{2} \in C^{\infty}\left(\mathbb{R}^{3}\right)$, where $\pi_{1}, \pi_{2}: M \times M \rightarrow M$ are canonical projections and $h \in C^{\infty}(M \times M)$. The 2-contravariant tensor field P is:

$$
\begin{equation*}
P(\tilde{x}, x)=\sum_{i=o}^{7} \varepsilon_{i} P_{i}(\tilde{x}, x) \tag{5}
\end{equation*}
$$

where

$$
P_{0}(x)=\left(\begin{array}{ccc}
0 & x^{3} & -x^{2} \\
-x^{3} & 0 & x^{1} \\
x^{2} & -x^{1} & 0
\end{array}\right), \quad P_{1}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & x^{3} & -x^{2} \\
-x^{3} & 0 & \tilde{x}^{1} \\
x^{2} & -\tilde{x}^{1} & 0
\end{array}\right),
$$

$$
\begin{array}{ll}
P_{2}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & x^{3} & -\tilde{x}^{2} \\
-x^{3} & 0 & x^{1} \\
\tilde{x}^{2} & -x^{1} & 0
\end{array}\right), & P_{3}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & \tilde{x}^{3} & -x^{2} \\
-\tilde{x}^{3} & 0 & x^{1} \\
x^{2} & -x^{1} & 0
\end{array}\right),  \tag{6}\\
P_{4}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & x^{3} & -\tilde{x}^{2} \\
-x^{3} & 0 & \tilde{x}^{1} \\
\tilde{x}^{2} & -\tilde{x}^{1} & 0
\end{array}\right), & P_{5}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & \tilde{x}^{3} & -x^{2} \\
-\tilde{x}^{3} & 0 & \tilde{x}^{1} \\
x^{2} & -\tilde{x}^{1} & 0
\end{array}\right), \\
P_{6}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & \tilde{x}^{3} & -\tilde{x}^{2} \\
-\tilde{x}^{3} & 0 & x^{1} \\
\tilde{x}^{2} & -x^{1} & 0
\end{array}\right), & P_{7}(\tilde{x}, x)=\left(\begin{array}{ccc}
0 & \tilde{x}^{3} & -\tilde{x}^{2} \\
-\tilde{x}^{3} & 0 & \tilde{x}^{1} \\
\tilde{x}^{2} & -\tilde{x}^{1} & 0
\end{array}\right),
\end{array}
$$

and $\varepsilon=\left(\varepsilon_{i}\right) \in[0,1]^{8}, i=0,1,2, \ldots, 7$ with $\sum_{i=0}^{7} \varepsilon_{i}=1$.
The function $h(\tilde{x}, x)$ is called the Hamiltonian function and it has the following form:

$$
\begin{equation*}
h(\tilde{x}, x)=\sum_{i=0}^{7} \delta_{i} h_{i}(\tilde{x}, x) \tag{7}
\end{equation*}
$$

where

$$
\begin{aligned}
& h_{0}(x)=\frac{1}{2} a_{1}\left(x^{1}\right)^{2}+\frac{1}{2} a_{2}\left(x^{2}\right)^{2}+\frac{1}{2} a_{3}\left(x^{3}\right)^{2} \\
& h_{1}(\tilde{x}, x)=\frac{1}{2} a_{1} x^{1} \tilde{x}^{1}+\frac{1}{2} a_{2}\left(x^{2}\right)^{2}+\frac{1}{2} a_{3}\left(x^{3}\right)^{2} \\
& h_{2}(\tilde{x}, x)=\frac{1}{2} a_{1}\left(x^{1}\right)^{2}+a_{2} x^{2} \tilde{x}^{2}+\frac{1}{2} a_{3}\left(x^{3}\right)^{2} \\
& h_{3}(\tilde{x}, x)=\frac{1}{2} a_{1}\left(x^{1}\right)^{2}+\frac{1}{2} a_{2}\left(x^{2}\right)^{2}+a_{3} x^{3} \tilde{x}^{3} \\
& h_{4}(\tilde{x}, x)=a_{1} x^{1} \tilde{x}^{1}+a_{2} x^{2} \tilde{x}^{2}+\frac{1}{2} a_{3}\left(x^{3}\right)^{2} \\
& h_{5}(\tilde{x}, x)=a_{1} x^{1} \tilde{x}^{1}+\frac{1}{2} a_{2}\left(x^{2}\right)^{2}+a_{3} x^{3} \tilde{x}^{3} \\
& h_{6}(\tilde{x}, x)=\frac{1}{2} a_{1}\left(x^{1}\right)^{2}+a_{2} x^{2} \tilde{x}^{2}+a_{3} x^{3} \tilde{x}^{3} \\
& h_{7}(\tilde{x}, x)=a_{1} x^{1} \tilde{x}^{1}+a_{2} x^{2} \tilde{x}^{2}+a_{3} x^{3} \tilde{x}^{3}
\end{aligned}
$$

and $\delta=\left(\delta_{i}\right) \in[0,1]^{8}$, with $\sum_{i=o}^{7} \delta_{i}=1$.
The differential equations with time delay for the rigid body are given by:

$$
\begin{equation*}
\dot{x}(t)=P(\tilde{x}(t), x(t)) \nabla_{x} h(\tilde{x}(t), x(t)) \tag{8}
\end{equation*}
$$

where $\tilde{x}(t)=x(t-\tau), \tau \geq 0$ with initial value $x(\theta)=\phi(\theta), \theta \in[-\tau, 0]$, where $\phi:[-\tau, 0] \rightarrow \mathbb{R}^{3}, \phi \in C^{\infty}\left(\mathbb{R}^{3}\right)$. The differential equations (8) have the equilibrium points $M_{1}(m, 0,0), M_{2}(0, m, 0), M_{3}(0,0, m), m \in \mathbb{R}^{*}$.

In what follows, we consider the function $l \in C^{\infty}\left(\mathbb{R}^{3} \times \mathbb{R}^{3}\right)$ given by:

$$
\begin{equation*}
l(\tilde{x}, x)=\sum_{i=o}^{7} \varepsilon_{i} h_{i}(\tilde{x}, x) \tag{9}
\end{equation*}
$$

where

$$
\begin{aligned}
& l_{0}(\tilde{x}, x)=\frac{1}{2}\left(x^{1}\right)^{2}+\frac{1}{2}\left(x^{2}\right)^{2}+\frac{1}{2}\left(x^{3}\right)^{2}, l_{1}(\tilde{x}, x)=x^{1} \tilde{x}^{1}+\frac{1}{2}\left(x^{2}\right)^{2}+\frac{1}{2}\left(x^{3}\right)^{2} \\
& l_{2}(\tilde{x}, x)=\frac{1}{2}\left(x^{1}\right)^{2}+x^{2} \tilde{x}^{2}+\frac{1}{2}\left(x^{3}\right)^{2}, l_{3}(\tilde{x}, x)=\frac{1}{2}\left(x^{1}\right)^{2}+\frac{1}{2}\left(x^{2}\right)^{2}+x^{3} \tilde{x}^{3} \\
& l_{4}(\tilde{x}, x)=x^{1} \tilde{x}^{1}+x^{2} \tilde{x}^{2}+\frac{1}{2}\left(x^{3}\right)^{2}, l_{5}(\tilde{x}, x)=x^{1} \tilde{x}^{1}+\frac{1}{2}\left(x^{2}\right)^{2}+x^{3} \tilde{x}^{3} \\
& l_{6}(\tilde{x}, x)=\frac{1}{2}\left(x^{1}\right)^{2}+x^{2} \tilde{x}^{2}+x^{3} \tilde{x}^{3}, l_{7}(\tilde{x}, x)=x^{1} \tilde{x}^{1}+x^{2} \tilde{x}^{2}+x^{3} \tilde{x}^{3}
\end{aligned}
$$

Proposition 1. (i) The function $l(\tilde{x}, x)$ given by (9) satisfies the following relation

$$
\begin{equation*}
\nabla_{x} l(\tilde{x}, x) P(\tilde{x}, x) \nabla_{x} f(\tilde{x}, x)=0 \tag{10}
\end{equation*}
$$

for all $f \in C^{\infty}(M \times M)$.
(ii) The revised differential equations with time delay have the form:

$$
\begin{equation*}
\dot{x}(t)=P(\tilde{x}(t), x(t)) \nabla_{x} h(\tilde{x}(t), x(t))+g(\tilde{x}(t), x(t)) \nabla_{\tilde{x}} l(\tilde{x}(t), x(t)) \tag{11}
\end{equation*}
$$

where $\tilde{x}(t)=x(t-\tau), \tau \geq 0$ and $g(\tilde{x}, x)$ is a 2-contravariant tensor field given by:

$$
\begin{aligned}
& g(\tilde{x}, x)=\left(g^{i j}(\tilde{x}, x)\right), \\
& g^{i j}(\tilde{x}, x)=\frac{\partial h(\tilde{x}, x)}{\partial x^{i}} \frac{\partial h(\tilde{x}, x)}{\partial x^{j}}, i \neq j \\
& g^{i i}(\tilde{x}, x)=-\sum_{h=1, k \neq i}^{3}\left(\frac{\partial h(\tilde{x}, x)}{\partial x^{k}}\right)^{2} .
\end{aligned}
$$

The system (11) has the equilibrium points $M_{1}(m, 0,0), M_{2}(0, m, 0), M_{3}(0,0, m)$, $m \in \mathbb{R}^{*}$.

In order to analyze system (11) in the neighborhood of equilibrium point $M_{1}(m, 0,0)$ we will consider $\varepsilon_{1}=\varepsilon_{4}=\varepsilon_{5}=\varepsilon_{7}=0, \varepsilon_{0}, \varepsilon_{2}, \varepsilon_{3}, \varepsilon_{6} \in[0,1]$ with $\alpha_{1}=$ $\varepsilon_{0}+\varepsilon_{2}+\varepsilon_{3}+\varepsilon_{6}=1$ and $\delta_{i} \in[0,1], i=0, \ldots 7$ so that

$$
\begin{equation*}
\delta_{0}+\delta_{1}+\delta_{2}+\delta_{4}=\frac{a_{1}}{a_{3}}\left(\varepsilon_{0}+\varepsilon_{2}\right), \delta_{0}+\delta_{1}+\delta_{3}+\delta_{5}=\frac{a_{1}}{a_{2}}\left(\varepsilon_{0}+\varepsilon_{3}\right), \sum_{i=0}^{7} \delta_{i}=1 \tag{12}
\end{equation*}
$$

From the above conditions we obtain:

$$
\begin{align*}
& \alpha_{1}=1, \quad \beta_{1}=0, \quad \alpha_{2}=\varepsilon_{0}+\varepsilon_{3}, \quad \beta_{2}=\varepsilon_{2}+\varepsilon_{6}, \quad \alpha_{3}=\varepsilon_{0}+\varepsilon_{2} \\
& \beta_{3}=\varepsilon_{3}+\varepsilon_{6}, a_{3} \mu_{3}=a_{1} \alpha_{3}, \quad a_{2} \mu_{2}=a_{1} \alpha_{2}, \quad \mu_{3}=\delta_{0}+\delta_{1}+\delta_{2}+\delta_{4}  \tag{13}\\
& \eta_{3}=1-\mu_{3}, \quad \mu_{2}=\delta_{0}+\delta_{1}+\delta_{3}+\delta_{5}, \quad \eta_{2}=1-\mu_{2} \\
& \mu_{1}=\delta_{0}+\delta_{2}+\delta_{3}+\delta_{6}, \quad \mu_{1}=\delta_{1}+\delta_{4}+\delta_{5}+\delta_{7}
\end{align*}
$$

## The Hopf bifurcation in $M_{1}(m, 0,0)$

Fist we consider the linear system associated to the differential equations with time delay (11) in $M_{1}(m, 0,0)$ :

$$
\begin{equation*}
\dot{u}(t)=A_{1} u(t)+B_{1} u(t-\tau) \tag{14}
\end{equation*}
$$

where

$$
A_{1}=\left(\begin{array}{ccc}
0 & 0 & 0  \tag{15}\\
0 & a_{22} & 0 \\
0 & 0 & a_{33}
\end{array}\right), B_{1}=\left(\begin{array}{ccc}
0 & 0 & 0 \\
0 & 0 & b_{23} \\
0 & b_{32} & 0
\end{array}\right)
$$

$u(t)=\left(u_{1}(t), u_{2}(t), u_{3}(t)\right)^{T}$ and

$$
a_{22}=-\beta_{2} a_{1}^{2} m^{2}, \quad a_{33}=-\beta_{3} a_{1}^{2} m^{2}, \quad b_{23}=m\left(a_{3}-a_{1}\right), \quad b_{32}=m\left(a_{1}-a_{2}\right) .
$$

where

$$
\begin{equation*}
\Delta_{1}(\lambda, \tau)=\lambda^{2}+a \lambda+b+c e^{-2 \lambda \tau} \tag{17}
\end{equation*}
$$

and

$$
a=\left(\beta_{2}+\beta_{3}\right) a_{1}^{2} m^{2}, \quad b=\beta_{2} \beta_{3} a_{1}^{4} m^{4}, \quad c=m^{2}\left(a_{1}-a_{2}\right)\left(a_{1}-a_{3}\right)
$$

Proposition 2. (i) If $\tau=0$ then the equation $\Delta_{1}(\lambda, 0)=0$ has the roots with negative real parts.
(ii) If $m \in\left(\frac{a_{1}-a_{3}}{\beta_{2} a_{1}^{2}}, \frac{a_{1}-a_{2}}{\beta_{3} a_{1}^{2}}\right)$ then the equation $\Delta_{1}(\lambda, \tau)=0$ has the roots with negative real parts for any $\tau>0$.
(iii) If $m \in(0, p)$ then there exists $\tau_{0}$ and $\omega_{0}$ such that $\lambda_{1}=i \omega_{0}, \lambda_{2}=\bar{\lambda}_{1}$ are simple roots for $\Delta_{1}\left(\lambda, \tau_{0}\right)=0$ and the other roots have negative real part, where

$$
\begin{equation*}
p=\frac{1}{a_{1}} \sqrt{\frac{\left(a_{1}-a_{2}\right)\left(a_{1}-a_{3}\right)}{\beta_{2} \beta_{3}}}, \quad \tau_{0}=\frac{1}{2 \omega_{0}} \arctan \frac{a \omega_{0}}{\omega_{0}^{2}-b} \tag{18}
\end{equation*}
$$

and $\omega_{0}$ is one positive root of the following equation:

$$
\omega^{4}+\left(a^{2}-2 b\right) \omega^{2}+b^{2}-c^{2}=0
$$

Proposition 3. For $m_{0} \in(0, p)$ and $\tau_{0}=\tau_{0}\left(\omega_{0}\right)$ given by (18), $\tau$ is a Hopf bifurcation for system (11).
Proof. The roots of equation $\Delta_{1}(\lambda, \tau)=0$ are continuously dependent on $\tau$ so that we consider $\lambda=\lambda(\tau)$. Deriving (21) with respect to $\tau$ and computing the derivative in $\tau=\tau_{0}, \lambda_{1}=i \omega$, it results that:

$$
M=\operatorname{Re}\left(\frac{d \lambda}{d \tau}\right)_{\tau=\tau_{0}, \lambda=\lambda_{1}}=\frac{2 \omega_{0} \tau_{0}\left[a\left(a+b-2 \omega_{0}^{2}\right)+2 \omega_{0}(a+1)\left(\omega_{0}^{2}-b\right)\right]}{\left(a+b-2 \omega_{0}^{2}\right)^{2}+4 \omega_{0}^{2}(a+1)^{2}}
$$

$$
N=\operatorname{Im}\left(\frac{d \lambda}{d \tau}\right)_{\tau=\tau_{0}, \lambda=\lambda_{1}}=\frac{2 \omega_{0} \tau_{0}\left[\left(\omega_{0}^{2}-b\right)\left(a+b-2 \omega_{0}^{2}\right)^{2}-2 a(a+1) \omega_{0}^{2}\right]}{\left(a+b-2 \omega_{0}^{2}\right)^{2}+4 \omega_{0}^{2}(a+1)^{2}}
$$

Because M is a positive number then $\tau_{0}$ is a Hopf bifurcation.
Remark 1. Characteristic equation (16) has one zero eigenvalue corresponding to the eigenvector with the direction along the line of equilibria. Thus the equilibria on this line will not be asymtotically stable. However, applying the results from [4] they will be orbitally asymptotically stable if all the other roots of $\Delta_{1}(\lambda, \tau)$ have negative real parts. Using Propositions 2 and 3 we obtain that if $\tau \in\left[0, \tau_{o}\right)$ and $m \in(0, p)$, the point $M_{1}(m, 0,0)$ is orbitally asymptotically stable.

## The normal form for the system (11)

From (12) and (13) and by using the translation $x^{1}=y^{1}+m, x^{2}=y^{2}, x^{3}=y^{3}$ system (11) becomes:

$$
\begin{equation*}
\dot{y}(t)=A_{1} y(t)+B_{1} y(t-\tau)+F(y(t), y(t-\tau))+G(y(t), y(t-\tau)) \tag{19}
\end{equation*}
$$

where $A_{1}, B_{1}$ are the matrices given in (19), $y(t)=\left(y^{1}(t), y^{2}(t), y^{3}(t)\right)^{T}, y(t-\tau)=$ $\left(y^{1}(t-\tau), y^{2}(t-\tau), y^{3}(t-\tau)\right)^{T}, F(y(t), y(t-\tau))=\left(F^{1}(y(t), y(t-\tau)), F^{2}(y(t), y(t-\right.$ $\tau)$ ), $F^{3}(y(t), y(t-\tau))$, with

$$
\begin{align*}
& F^{1}(y(t), y(t-\tau))= \\
& d_{23} y^{2}(t) y^{3}(t)+e_{23} y^{2}(t-\tau) y^{3}(t)+f_{23} y^{2}(t) y^{3}(t-\tau)+h_{23} y^{2}(t-\tau) y^{3}(t-\tau), \\
& F^{2}(y(t), y(t-\tau))= \\
& d_{13} y^{1}(t) y^{3}(t)+e_{13} y^{1}(t-\tau) y^{3}(t)+f_{13} y^{1}(t) y^{3}(t-\tau)+h_{13} y^{1}(t-\tau) y^{3}(t-\tau), \\
& F^{3}(y(t), y(t-\tau))= \\
& d_{13} y^{1}(t) y^{2}(t)+e_{12} y^{1}(t-\tau) y^{2}(t)+f_{12} y^{1}(t) y^{2}(t-\tau)+h_{12} y^{1}(t-\tau) y^{2}(t-\tau), \tag{20}
\end{align*}
$$

and

$$
\begin{gathered}
d_{23}=a_{2} \mu_{2} \alpha_{3}-a_{3} \mu_{3} \alpha_{2}, \quad e_{23}=a_{2} \mu_{2} \alpha_{3}-a_{3} \mu_{3} \beta_{2}, \\
f_{23}=a_{2} \mu_{2} \beta_{3}-a_{3} \eta_{3} \alpha_{2}, \quad h_{23}=a_{2} \eta_{2} \beta_{3}-a_{3} \eta_{3} \beta_{2}, \\
d_{13}=a_{3} \mu_{3}-a_{1} \mu_{1} \alpha_{3}, \quad e_{13}=a_{3} \mu_{3}-a_{1} \mu_{1} \beta_{3}, \\
f_{13}=-a_{1} \mu_{1} \alpha_{3}, \quad h_{13}=-a_{1} \eta_{1} \beta_{3}, \\
d_{12}=a_{1} \mu_{1} \alpha_{2}-a_{2} \mu_{2}, \quad e_{12}=a_{1} \mu_{1} \alpha_{2}, \\
f_{12}=a_{1} \mu_{1} \beta_{2}-a_{2} \eta_{2}, \quad h_{12}=a_{1} \eta_{1} \beta_{2} .
\end{gathered}
$$

The function $G(y(t), y(t-\tau))$ has as components polynomials of third degree in the coordinates of $y(t)$ and $y(t-\tau)$.

Let $\tau=\tau_{0}+\varepsilon$ be with $\varepsilon \geq 0$ sufficiently small and the center manifold in $\tau$ given by:

$$
\begin{equation*}
y(\theta)=z \phi(\theta)+\bar{z} \phi(\theta)+\frac{1}{2} w_{20}(\theta) z^{2}+w_{11}(\theta) z \bar{z}+\frac{1}{2} w_{02}(\theta) \bar{z}^{2}+\ldots \tag{21}
\end{equation*}
$$

where $\theta \in[-\tau, 0], z \in C^{2}, \phi(\theta)=\phi(0) e^{\lambda_{1} \theta}$, and $\phi(0)$ is the eigenvector of the matrix $A_{1}+e^{-\lambda_{1} \tau_{0}} B_{1}$.

By direct computation it results $\phi(0)=\left(0, v_{2}, 1\right)^{T}$ where

$$
v_{2}=-\frac{m\left(a_{1}-a_{3}\right) e^{-\lambda_{1} \tau_{0}}}{\beta_{2} a_{1}^{2} m^{2}+\lambda_{1}}
$$

The eigenvector of $\psi(0)$ of the adjunct matrix $A_{1}+e^{-\lambda_{1} \tau_{0}} B_{1}$ is $\psi(0)=\left(0, w_{2}, w_{3}\right)$, where

$$
w_{2}=\frac{m\left(a_{1}-a_{2}\right) e^{-\lambda_{2} \tau_{0}} w_{3}}{\beta_{2} a_{1}^{2} m^{2}+\lambda_{2}} w_{3} .
$$

Using the following scalar product :

$$
<\psi(s), \phi(s)>=\psi(0) \phi(0)+\int_{-\tau_{o}}^{0} \psi\left(s+\tau_{0}\right) B_{1} \phi(s) d s
$$

we can determinate $w_{3}$ so that $<\psi(s), \phi(s)>=<\bar{\psi}(s), \bar{\phi}(s)>=1,<\psi(s), \bar{\phi}(s)>=<$ $\bar{\psi}(s), \phi(s)>=0$.

By direct computation it results:

$$
w_{3}=\frac{1}{\eta}, \eta=1-\frac{m^{2}\left(a_{1}-a_{3}\right)\left(a_{1}-a_{2}\right)}{\beta_{2}^{2} a_{1}^{4} m^{4}+\omega_{0}^{2}}\left(1+\beta_{2} a_{1} m^{2} \tau_{0}+\lambda_{2} \tau_{0}+\tau_{0}\left(\beta_{2} a_{1} m^{2}+\lambda_{2}\right) e^{2 \lambda_{1} \tau_{0}}\right)
$$

Replacing $y$ with $y(0)$ and $\tilde{y}$ with $y(t-\tau)$ given by (21) in (20) we have:

$$
\begin{aligned}
F^{1}(y, \tilde{y}) & =\frac{1}{2} F_{20}^{1} z^{2}+F_{11}^{1} z \bar{z}+\frac{1}{2} F_{02}^{1} \bar{z}^{2}+\frac{1}{2} F_{21}^{1} z^{2} \bar{z}+\ldots \\
F^{2}(y, \tilde{y}) & =\frac{1}{2} F_{21}^{2} z^{2} \bar{z}+\ldots \\
F^{3}(y, \tilde{y}) & =\frac{1}{2} F_{21}^{3} z^{2} \bar{z}+\ldots
\end{aligned}
$$

where

$$
\begin{aligned}
& F_{21}^{1}=2\left(d_{23}+\left(e_{23}+f_{23}\right) e^{-\lambda_{1} \tau_{0}}+h_{23} e^{-2 \lambda_{1} \tau_{0}}\right) v_{2} \\
F_{21}^{2} & =d_{13}\left(w_{20}^{1}(0)+2 w_{11}^{1}(0)\right)+e_{13}\left(w_{20}^{1}\left(-\tau_{0}\right)+2 w_{11}^{1}\left(-\tau_{0}\right)\right)+ \\
+ & f_{13}\left(w_{20}^{1}(0) e^{\lambda_{1} \tau_{0}}+2 w_{11}^{1}(0) e^{-\lambda_{1} \tau_{0}}\right)+ \\
& +h_{13}\left(w_{20}^{1}\left(-\tau_{0}\right) e^{\lambda_{1} \tau_{0}}+2 w_{11}^{1}\left(-\tau_{0}\right) e^{-\lambda_{1} \tau_{0}}\right) \\
F_{21}^{3} & =d_{12}\left(w_{20}^{1}(0) \bar{v}_{2}+2 w_{11}^{1}(0) v_{2}\right)+e_{12}\left(w_{20}^{1}\left(-\tau_{0}\right) \bar{v}_{2}+w_{11}^{1}\left(-\tau_{0}\right) v_{2}\right)+ \\
& +f_{12}\left(w_{20}^{1}(0) e^{\lambda_{1} \tau_{0}} \bar{v}_{2}+2 w_{11}^{1}(0) e^{-\lambda_{1} \tau_{0}} v_{2}\right)+ \\
& +h_{12}\left(w_{20}^{1}\left(-\tau_{0}\right) e^{\lambda_{1} \tau_{0}} \bar{v}_{2}+2 w_{11}^{1}\left(-\tau_{0}\right) e^{-\lambda_{1} \tau_{0}} v_{2}\right) .
\end{aligned}
$$

The invariance property of central manifold [4] leads to:

$$
w_{20}^{1}(\theta)=\frac{1}{2 \lambda_{2}} F_{20}^{1} e^{2 \lambda_{2} \theta}, w_{11}^{1}(\theta)=0, \quad \theta \in\left[-\tau_{0}, 0\right]
$$

Proposition 4. (i). The normal form of the system (19) on the central manifold $i s$ :

$$
\begin{equation*}
\dot{z}(t)=\lambda_{1} z(t)+\frac{1}{2} g_{21} z(t)^{2} \bar{z}(t) \tag{22}
\end{equation*}
$$

where

$$
\begin{aligned}
& g_{21}=w_{2} F_{21}^{2}+w_{3} F_{21}^{3} \\
& F_{21}^{2}=\frac{1}{2 \lambda_{2}} F_{20}^{1}\left(d_{13}+e_{13} e^{-2 \lambda_{2} \tau_{0}}+f_{13} e^{\lambda_{1} \tau_{0}}+h_{13} e^{\left(\lambda_{1}-2 \lambda_{2}\right) \tau_{0}}\right) \\
& F_{21}^{3}=\frac{1}{2 \lambda_{2}} F_{20}^{1} \bar{v}_{2}\left(d_{12}+e_{12} e^{-2 \lambda_{2} \tau_{0}}+f_{12} e^{\lambda_{1} \tau_{0}}+h_{12} e^{\left(\lambda_{1}-2 \lambda_{2}\right) \tau_{0}}\right)
\end{aligned}
$$

(ii) The solution of differential system with time delay (11) in the neighborhood of $M_{1}(m, 0,0)$ is:

$$
\begin{aligned}
& x^{1}(t)=m+\operatorname{Re}\left(w_{20}^{1}(0) z^{2}(t)\right) \\
& x^{2}(t)=2 \operatorname{Re}\left(z(t) v_{2}\right) \\
& x^{3}(t)=2 \operatorname{Re}(z(t))
\end{aligned}
$$

where $z(t)$ is a solution of equation (22).
(iii) The Lyapunov coefficient is $C_{1}=\frac{g_{21}}{2}$. The elements which characterize the limit cycle are:

$$
\begin{gathered}
\tilde{\mu}_{2}=-\frac{\operatorname{Re}\left(C_{1}\right)}{\operatorname{Re}\left(\frac{d \lambda}{d \tau}\right)_{\tau=\tau_{0}, \lambda=\lambda_{1}}}, \beta_{2}=2 \operatorname{Re}\left(C_{1}\right) \\
T_{2}=-\frac{\operatorname{Im}\left(C_{1}\right)+\tilde{\mu}_{2} \operatorname{Im}\left(\frac{d \lambda}{d \tau}\right)_{\tau=\tau_{0}, \lambda=\lambda_{1}}}{\omega_{0}} .
\end{gathered}
$$

(iv) If $\tilde{\mu}_{2}>0(<0)$ then the Hopf bifurcation is supercritical (subcritical) and the bifurcating periodic solutions exist for $\tau>\tau_{0}\left(<\tau_{0}\right)$; the solutions are orbitally stable (unstable) if $\beta_{2}<0(>0)$; the period increases (decreases) if $T_{2}>0(<0)$.

For $\varepsilon_{0}=0.2, \varepsilon_{1}=0, \varepsilon_{2}=0.2, \varepsilon_{3}=0.3, \varepsilon_{4}=0, \varepsilon_{5}=0, \varepsilon_{6}=0.3, \varepsilon_{7}=0$, $a_{1}=0.6, a_{2}=0.4, a_{0}=0.2, \delta_{0}=\frac{a_{2}}{a_{1}}\left(\varepsilon_{0}+\varepsilon_{3}\right), \delta_{1}=\frac{a_{2}}{a_{3}}\left(\varepsilon_{0}+\varepsilon_{1}\right)-\frac{a_{2}}{a_{1}}\left(\varepsilon_{0}+\varepsilon_{3}\right)$, $\delta_{2}=\delta_{3}=\delta_{4}=\delta_{6}=\delta_{7}=0, \delta_{5}=1-\delta_{0}-\delta_{1}$ it results: $p=0.860662958$ and $m=0.66$, $\omega_{0}=0.16557, \tau_{0}=2.9090, \beta_{2}=1.145, \mu_{2}=-4.524, T_{2}=-10.046$. There is a subcritical bifurcation, orbitally unstable solution with decrease period.

The phase plot $\left(x^{1}(t), x^{2}(t), x^{3}(t)\right)$ is given in fig 1 :
Fig1. Phase plot $\left(x(t)^{\wedge} 1, x(t)^{\wedge} 2, x(t)^{\wedge} 3\right)$


The analysis of the system (11) in the neighborhood of the equilibrium points $M_{2}(0, m, 0)$ and $M_{3}(0,0, m)$ will be given in the next papers.

## References

[1] I.D. Albu, M. Neamţu, D. Opriş, Dissipative mechanical systems with delay, Tensor, N.S., Vol. 67, No. 1, 2006, 1-27 (to appear)
[2] I.D. Albu, D. Opriş, Leibniz Dynamics with Time Delay, Balkan Journal of Geometry and its applications, 2005 (to appear)
[3] D. Fish, Dissipative perturbations of 3D Hamiltonian systems, ArXiv: mathph/0506047, v1, 2005.
[4] J.K. Hale, S.M. Verduyn Lunel, Introduction to functional differential equations, Springer Verlag, N.Y., 1993.
[5] J. Marsden, T. Ratiu, Introduction to Mechanics and Symmetry, Springer Verlag, NY, 1994
[6] P. J. Morrison, A Paradigm for Joined Hamiltonian and Dissipative Systems Physica 18D, 410-419, 1986

Authors' addresses:
Mihaela Neamţu, Dumitru Opriş
Department of Economic Informatics and Statistics,
Faculty of Economics, West University of Timişoara, Romania.
email: mihaela.neamtu@fse.uvt.ro
Marcela Popescu
University of Craiova,
Department of Applied Mathematics,
13 Al. I. Cuza St., Craiova, 200585, Romania.
email: marcelacpopescu@yahoo.com


[^0]:    Thê Fifth Conference of Balkan Society of Geometers, Aug. 29 - Sept. 2, 2005, Mangalia, Romania; BSG Proceedings 13, Geometry Balkan Press pp. 83-91.
    (C) Balkan Society of Geometers, 2006.

